SFhEE HEHARN—YHES ThHE

AN @ (B2 2 )
TH H AR U TR T R | AR L oD PRk fi =
1. M B & 1,189,169 1,064,119 125,050 |  Aij4FR RSl 4
2. & b g 256,000 253,000 3,000 | JnEREIMAZE (26[H14)
3. B & ®& 300,000 500,000 A 200,000 | BEhEESH
4. 1 B & 3,470,000 3,470,000 0| mitHBh4
5. W #i B & 255,000 254,500 500 | WRAR—I B4
6. M I A 31 381 A 350 | TH&H| 1%
NS 5,470,200 5,542,000 A 71,800
A\ BT JE PR3
B 2N (Hfr : M)
T H A T R Al AR T | mi L o PG fii =
1. & B 1,380,000 1,380,000 0
1% 4 480,000 480,000 0| % —1&4(40,000/9/H X124 1)
N (2) =2 B & 100,000 100,000 0| BERES
() T H & 400,000 450,000 A 50,000 | FIRIE - k% - 55 F o - IR IS ORI - JGHHIR &
ENIOEIE E- 300,000 250,000 50,000 | HEREE < WEHEF A — o M RS
(5) ¥ 4\ 2 100,000 100,000 0| WBARWZE L O~ RS
2. & ¥ % 3,345,000 3,419,000 A 74,000
Be B W B W & eeeeees 135,000
L5 B i B eeeenns 135,000
E 1 BE eeeeees 99,000
Gl bl 8 B veeeoee 99,000
K K BE eeeeees 99,000
A #E 1 B eeeennn 99,000
== Bk h D eeveens 99,000
] V7 hrTF =2 #H OB e 99,000
o X = OB eeeee. 90,000
z= T+ i B eeeeees 72,000
NRE I by il B oeeeee. 90,000
Nl — R — )L B eeeeee. 99,000
A% — g B ...l 90,000
B AN N R — [
%m@ﬁiﬁ 2,651,000 2,646,000 5,000 é\xﬁ%mh E’D@% ....... 38883
To= A e 90,000
Do TFOFE IR ER eeeee.s 54,000
Fo— AR — b gl B ... 63,000
VT RER — L e 63,000
L7 — g Wy eeeeens 360,000
AR = AR [ eeeenes 306,000
R KE E Y e 0
IR F B e 0
TT 0 RIA T A eeeeens 50,000
B EBR A O B e 50,000
=) 1 1 B eeeennn 50,000
T =7 = A GE B ...l 50,000
=T a ey gl e 30,000
ENIEESIE =3 300,000 380,000 A 80,000
100,000 100,000 0 MRESY (e, BI5KRE)
100,000 180,000 A 80,000 | JRIREEFEAT
100,000 100,000 0| WHHEEWHES
By & 180,000 180,000 0
180,000 180,000 0| vr=—3iar kREBkse
a4 #H & 214,000 213,000 1,000
70,000 70,000 0| WIEHMXAEHSHGSAMRE
144,000 143,000 1,000 | BAR—YHEAHESE
3. T fw % 745,200 743,000 2,200
X A E 5,470,200 5,542,000 A 71,800

I\ HITARFE HERk




